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For gach question from 116 14, four oplions are given. One of them is the comrect answer.
Make your choice {1, 2, 3 or 4} and shade your answer on the Optical

Rosyth SchoolWaighied Assessment One/Stience/P52021

Answer Sheel.
[28 Marks)

1 Jimmy prepared four set-ups, A, B, C and D, using similar plants as shown in the
diagram bealow.

Which two set-ups should Jimmy choose to find out if plant needs water lo survive?

&)
(2)
{3)
)

- Cledl .
glass box

AandB
AandC
Band D

Cand D
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The chart below shows the similiarities and differences among three Jiving things,

X,Y and Z.

Living Things

Can it make ™\ Yes
its own food?,”

X
What do X, Y and Z represent?

X Y z
[¢i Yeast Fern Bacteria
2 | Baoteria Mushroom Fem
@] Bacleria Fern " Mushroom
@) Yeast Bacteria “Femn

3
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Which one of the following organ syslems is matched correctly to its pars?

Organ system Parts of the organ system
M Circulatory |  hear, lungs, blood
) Muscular teeth, muscdles, tongue
@ ‘Respiratory nose, gullet, lungs
“ Skeletal skull, backbone, riboage

OfganAandmgmBmmadedmeamoﬁminﬁwhamandigasﬁm
mm.m&mammshmmmwonammm

digestive sysiem info the clrculatory sysiem.
Water is gbsorbed from
Organ A *  digested food into the
circulatory system

Organ B | I

Waler is absorbed from
undigasted food into the
circulatory system

Based on the information given, organ A is the
{1} mouth
{2)  stomach
(3) small intesting
{4y largeintestine
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Some men were trapped in a lift, Which one of the following graphs shows the
changes in the amount of gases in ths reom?

{1}

2

{3

(4)

comeendipr:

Amount of gas

Amount of gas

Amount of gas

Amount of gas

Time
&
e
e
Time
F
-;‘-ﬁ-
s
Time
[ 8
M
Time
5
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6  The diagram below shows the flow of blood in certaln parts of the human body.

Lungs

Heart

h 4

Srrall intestine [*

Which one of the following shows the amount of digested food and carbon dioxide
in blood at A and B respectively when a person has just complelely digested his

fooe?
Amount of digested food in Amount of carbon gdioxide in
A B A B '
My | High Low High | Low
%) ow |  High | Low | High
@ Low High Low “Low
4 High Low Low |  High

7 Which of the following substance(s) is/are not transported by the stem in a plant?

A food
B: water

- - C: mineral salts
D: carbon dioxide

{1} Conly

(2) D only

{3) CandDonly
{4) A, B andC only
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Ally removed a layer of bark from a healthy plant at two posiions, X and Y. The
fayers removed are of different depths. The two positions are es shown below.

Which one of the following shows tha tubeftubes removed at the two positions, X

Rosyth SchoolWeighted Assessment One/Science/P5/2021

and Y, and the condition of the leaves, A and B, after a week?

Tube removed at Leaf
) 3 Y A B
) | Food-camyingtubs | None of the fubes | Green Green
only are removed
(2) | None of the tubes are | Fouod-canrying and Green | Withered
removed | water-carrying tubes

(3) | None of the tubes are | Food-carrying tubes | Green | Withered
_ removed only

{4) Food-carfying and Food-carrying tube Green Green

water-canying tubes only
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The diagram below shows a young seediing.

sead leaf

I which direction is food and water being transported at X respectively?

Direction for transport of
- food water
N upwards upwards
{2) upwards downwards
3) downwards upwards
(4) dowrnmwards downwards
8
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Siew Fen saw a lady pulting ohe paper bag Inside another paper bag as shown
below before pulting her things inside.

paper bag

paper bag

Which property of the paper bag is she trying to Increase?
{1}  Strength

(2)  Flexibility

(3)  Waterproof

4  Transparency

The diagram below shows an electrical system made of different objacts.

paper clip

wire

fight buib

VWhich.is the energy source of the electrical system above?

{1} lemon
{2) metal pin
(3 lightbulb
(4)  paperciip
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The diagram below shows four bulbs A, B, C, D and two batterles connected ina

circusil.

Rosyth SchootWeighted Assessment One/Science/P5/2021

When one of the bulbs fused, the other three buibs will remain it

Which bulb is fused?

M
@
@)
(4)

o 0w o>
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All the bulbs and batteries in the three circuils below are identical and are in
working conditions. A, B, G and D are materials which are either electrical

conductor or insulator.

A B B

C D
Buib does not light up Buib lights up Bulb does aot light up

Which of the following materials is/are definitely an electrical insulator 7
(1) Conly

{2) Donly

(3 Aand Donly

4) BandDenly

11
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Ziming set up two identical bulbs in his Wy house. Bulb X is inRoom 1 and Bulb Z
is in Roomn 2. The brightness of each room is the same.

The two rooms are sepatated by a wall as shown below.

Room 1

Room 2 Z

He wanted Room 2 to be brighter than Room 1.
What should he do?

{1
@
(3)
{4)

Add in a bulb in series to bulb Z.

Add in a bulb in paraliel to bulb Z.

Add in more batteries in the circuit.

Add in an electrical conductor in series to bulb 2.

{Go 10 booklet B)
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For questions 15 o 20, write your answers in the space provided. ~ [22 Marks)

15

(a)

{b}

Liquid X Is similar to the digestive julce found in the stomach. Amin prepared the
two set-ups as shown below using similar-sized foods, A and B. He was
investigating the rate of digestion for foods, A and B. He recorded the resulis of
his experiment after an hour.

He concluded that food A digasted faster than food B in liguid X
What would be the evidence to support the above conclusion? 2

BP-~105

Arnin wanted {o find out what is the best temperature for digesting food A in liguid
X-

He prapared three axperimental set-ups with liquid X at 20°C, 30°C and 40°C
respectively. Using the results, he concluded that the bast temperature for food A
to be digested ts at 30°C. -

His teacher asked him 1o prepare another set-up with liquid X at 379C. Explain
why that set-up is needed. {1}

www.testpapersfree.com




_ BP-106

www.testpapersfree.com



Rosyth SchoobWeighted Assessment Ona/Sclenca/P5/2021

16 Sam carried out an experiment to find out how the number of lsaves on a plant
affects the rate of absorption of waler by the plant. He placed two similar plants in
identicat beakers, each containing the same amount of water as shown in the
diagram below. )

He then placed the two set-ups next {0 a window for five days.

Set-up A Setup B

iayer of oil

00miof
water

Rttt Riore” 4

oy

He recorded part of his experimental results in the table below.

Volumse of water left in the beaker (i)
Day Set-up A Setup B
1] 500G 500
2 450 ~ 490
4 400 470
(a} State the changed variable in thie experiment Kl
(b}  What can Sam do to make the results more reliable? {1

BP~107

Question 16 continues on page 4
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{¢)  The piclure below shows 2 free that has shed iis leaves during the dry season.

Uising the results, explain how shedding its leaves would help the plant. 2]
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17  David hung a magnet A, 30cm away from a magnelic material B,
Hanging

fa)  He observed that magnet A and the magnetic material B were not attracted to
each other. Explain why. {1

(b}  Then he hung object X in between magnet A and magnelic material 8 as shown
below.

Hanging
Bar

siring

Object X

if object X is a magnet hung in between A and B, what would passibly happen to
Aand 87 Draw In the box piven below fo show one possible result.

(Label ali the magnetic poles in your drawing.) [
Hanging
Bar -
N ObjectX S
5
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18  Ben wants to sel up a circult to light up his toy building as shown below using
identical bulbs and battaries.

wk'e/

Study the cirouil above and answer the following questions. [31
State i statements 1 and 2 are true or false and give the reasons.

Statement 1 When the wire is at X, bulb A will light up.
Tick True False

Reason for your choice.

Statement 2 : When the wirs Is at Y, bulb B will light up,
Tick Trus Fales '

. Reason for your choicea:
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19 Mary sef up a cifouit using two buibs and a batiery.
She wants the foiiowing condition to be met,

| T__here are wd pathways for th& elechrical cumrent to flow.

{a) Complete the circuit below. @

1

v
¥

{b} State one disadvantage of the above circuit . {1]
{c}  Suggest how the two bulbs can be controlied independently. A}
7
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20  Ruth sets up an electric cireuit using a bulb and two battedes as shown below.

She wants {0 find out how the number of bulbs arranged in series will affect the
brightness of each bulb.

(@ Toensure a fair test, state one variable she must keep constant. i

BP-112

{b)  The graph below shows the relationship between the number of bulbs arranged in
serjes In the circult and the brightness of the bulbs.

E N

Brightness
of the
buibs

A 4

1 2 3 4
Number of bulbs in series

From the graph above, state the relationship between the number of bulbs
arranged in seties and the brightness of the buibs. m

Quesﬁén 20 continues on page 9
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{d)
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Ruth canied out the experiment in a dark room,

Explain how carrying out the experiment in a dark room helped to make the
experiment accurate. (1l
Ruth saw a notice as shown balow,

Do not charge
A yourmobile |
et hione overnight.

Explain the reason for the above notice. [2}

End of Paper
9
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Q1 Q2 Q3 Q4 Qs Qé Q7 Q8 _QB Q10
2 3 4 3 2 2 2 1 1 1
Q11 Q12 Q13 Q14
1 3 2 2
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Suggested answers. Not accepted
15a
Compare sizo of food  Time factor
=
It is & conteo| set-up
To find out i in between 30 deg C and
40 deg © there was 8 beller
| temperature than A0 deyg C. {0)
16a ' |
The number of leaves on the plant
. e
He can repeal the experiment a few times, Prepare a control set-up with a plant
that has no lsaves
Repeat the expanment a few mere
— e , daye.(0)
G
Answer must relate 1o experimental data
s |essleoves, loss waler absorbed
» Taks sboul survival with less water
5% leaves | I8 inbythe
p!-at.{fm:r mus zha ptam can m@_mmmam) during a dry
SEOEON
178 | )
{Magnel A Is fac away lrom B) and its magnetic force Js not strong Magnetic ‘power/energy lnstead of
goough lo:ttmcl B, "foroe’?{0)
10r Magnet Ais 8 weak magnet -cmul
S sxphichl enough :
Magnet A did aol have enough magnetic sirength fo attract B from 30cm
182 Fick wrongly but reason correct{0)
Statement 1:
Both butteries are facing each other{0)
False (1/2m) :
The posilive termina’s of the batleries
are iaeing euch other, 5o the balieries
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5
Slatereat 2 ) ‘Fhe circoil has a bulb, battesy and wires
and sl the batteries ara connacled to
True (1/2m) _ each othes (D)
| B
19x | Bulhs connected In paraliel - tm
Bulbs conneclion comrect ~ 1m
b
The circult draws more current (1) Balleries will necd to change often.{0)
The battery uses up he energy fasier.{1}
| The battery will not last lony/ be used up faster.{1}
c .
By adding 2 switch next 1o each bulb in the circuit, , Adding switch/ two swilches withoul
datails of Rreation
204 7
Mumber ! Voltage of belteries guﬂ::a of batieries! type of wiras/typa of
Bl
MNumber / Length/ materalThickness of wires
Brand of.....
Woltage of buibs
o Number of buibs{D)
b ) ]
As the number of bulbs arranged in series ingreases, the brighinasshlight
intensity of the bulbs dacreases.
The grealer the number of bulbs, the dimmerfiess brightthe bulbs is
[
Evidante: ho o the suroondings cal To compare and confirm thal nurmber of
interferefaflact the resi) . {(0.5m) bubs i& the only variable affecting the
brightness of the bulb
Reasordng: 5o the diference n the brightness of the bulbs can be
measured i a dark roomn precisely/clearardisiincliyfaccursately. (0.5m) it is a fair test
d ‘ ' o
Changing har phone ovemight might produca too much heat foause it can cause a short Sircuil. (D)
overheating {1m} and hence the phone may catch fire. {1m}
Too much alectric current causes the
battery to fuse(l)
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